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Find the missing side of the following right triangles. Round to the nearest fenth.
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Determine whether each triangle with sides of given lengths is a right triangle.
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9) Crystal wants fo build a ramp on which to jump her bicycle. She wants it fo
rise 4 feet over a horizontal distance of 20 feef. How long will the ramp be?

Round to the nearest tenth. B
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10) You are setfting up a volleyball net using two 8 foot poles to hold up
the net. You are going to attach each pole to a stake in the ground using
a piece of rope. Each stake should be 4 feet from the pole. How long

should the rope be? Round to the nearest tenth.
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11) To repair a roof that is 16 feet high, Johnny places a 20 foot
ladder against a building. How far away from the building should he

place the base of the ladder? élzf A
[O o= x = 20 -
o 20 Ao —xF = ¥
I W — 256
— _




/ For problems 12 & 13, find the distance between points A and B. Round
to the nearest fenth, if necessary
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